Multiplication

Division

Choose one or both
of the sets of sums
and work out all the
answers.

On the diagram oppo-
site colour each area
which contains one of
the answers.

What do you see?
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Second Set
14.

15.
16.
17,
18.
19.
20.
21.
22.
23.
24.
25.

1235 x8 + 10 =
79x18 =18 =
196 - 14 x 13 =
2% 12:8=
4368 + 21 =

7 x 86 =
744 =+ 62 =

25 % 36 + 36 =
156 x 65 + 60 =
91 x 16 + 56 =
98 x 8 =56 =
56 x 89 + 28 =

First Set
21 x 5= 14.
24 x 10 = 15.
100 = 4 = 16.
175+ §= 17.
247 x4 = 18.
185 x5 = 19.
24 x 14 = 20.
1820 = 10 = 21,
2080 = 10 = 22.
301 x2 = 23.
; A8 X6 = 24.
. 845+ 5= 25.
506 = 11 =

210 + 15 =
1661 = 11 =
12:% 21 =
618 + 3 =
89 % 2=
Tx24=

26 x3+3=
79x2+2=
720 + 5+ 6=
96 +-4+2=
17x5x3=
2I1X2%2=
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The answers of both
sets of sums are the
same, but not in the
same order.






